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FHE™T 4,718 7 328 7 7 v 12 7 1,503 \ 92 v 938 v 34 v
L =JIET 167 2 18 7 1 \ - 7 446 \ 1 - 183 \ 3 \
ERE™ 3,199 7 212 v 2 7 - - 1,019 \ 33 v 573 7 17 v
28 FHT 659 2 " 7 - - 0 \ 202 \ 26 \ 104 \ 0 \
B AHT 471 7 2 M - - - - 50 M - - - - 0 N
i B ET 749 7 23 \ - - - - 130 \ 15 \ 115 \ - 7
FEHT 1,534 7 50 2 - - 2 v 172 \ 99 2 278 \ 4 \
A 4,566 7 289 \ - 7 788 \ 1m \ 66 \ 1,310 \ 49 7
FAEHT 789 7 - - - - 25 M 3 v 3 v 211 v - -
NI 2,065 7 40 \ - - 40 \ 1,523 \ " 7 682 \ 1 7
TEHm 1,497 7 3 7 - - - - 693 \ 28 v 432 - 4 N
EpRHET 419 7 4 \ - - - - 116 \ - - 120 \ 4 \
{EE™ 1,328 2 7 7 1 M 24 M 281 M 10 M 504 M 5 N
RFIT 759 7 - 7 - - 13 M 535 N 91 \ 78 7 - -
BeiB 1,811 2 5 \ 4 M - - 423 N 176 7 171 7 1 7
=B ] 1,923 N ] M - - - 7 631 N 120 \ 22 7 88 \
KHER™T 5,241 7 141 7 " \ - - 740 v 596 \ 573 \ 30 \
AEIRT 3, 680 7 112 \ - 7 1 - 334 \ 444 \ 202 \ 49 N
AR ZEHT 1, 691 2 6 M 15 M - - 86 M 164 M 15 M 1 N
AT 1,036 7 2 7 - - - - 250 \ 42 7 99 \ 6 7
AR AT )11 ET 856 2 9 7 - - - - 115 \ 34 \ 19 - 1 \
KR 1,298 7 113 7 - - 4 \ 360 \ 37 \ 132 \ 9 \
< b 2,791 2 37 7 - - - - 381 \ 56 \ 379 \ 28 \
1EAHT 1,013 7 75 7 2 - - - 294 \ 17 \ 84 \ 2 N
SRR ET 1,811 7 337 \ 16 \ - - 498 \ 70 \ 264 \ 6 \

GE1) ERAXRRUVEREDO (7EEOER (HATFRH | 3. 6 FERMELLEL,
(x2) EEMAXD M6 FERM (ha) | . HEBREXBERHRRAIBELZEHR.
GE3)  MIMAXk. SRR WSATE. KMAXK. HMBEAEARD M6 FEXME (ha) | X, BEMHEOREERE. £ - K20 6 FEXME (ha) | X, HARBREEFNBEFERBLERERF CHESR-ER (EHMHE) .
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